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E(Y)=xryf(x.y)
=xyr f(xy)=2Vf (y)
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Q X
V(X)=zx(x—u,) f(xy)
=z(x—p,) f(x)
=exf (X)) - u,”
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VY)=zz(y-u,) T(Xy)
=x(y-u) f(y)
=xy f(y)-nu’
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E(X|Y=y)=sxf(x|Y=vy)
V(XY =y)=E[X-E(X|Y=y)I
=E(X*|Y=y)-[E(X]Y=Y)I
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E(Y[X=x)=zyf(y|X=x)
V(Y| X =x)=E[Y-E(Y|X =x)]
=E(Y [ X=x)-[E(Y|X=x)I
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@[ f(x y)dydx=1
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X f.(x)
f.(x) =1 (xy)dy
Of (X200 f (x)dx=1
Y f,(y)
f,(y)=1f (x,y)dx
O f (y)200f (y)dy=1
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o f(ylx)=200
LE(y Ix)dy =1

X Y
E(X) = [1xF (x, y)dydx = [xf, (x)dx
E(Y) = 1y (x, y)dydx = [yf, (y)dy

QO X v

V(X) = 15(x=p,)" £ (%, y)dydx = E(X*) - (E(X))
V(Y) =1y = 4,)" F(x, y)dydx = E(Y*) - (E(Y))*

E(X |y)=1.xf(x]y)dx

V(X |y) = E[(x-E(X |y))’]
=L(x=E(X|y))* f (x]y)dx
=1 f (x| y)dx—[E(X | )]

Qvy
E(Y [x) =] yf(y[x)dy
V(Y |x) = E[(y-E(Y | x)’]
= (y=E(Y [x)*f(y|x)dy
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@ f(x]y)=f.(x)
@ flylx)=1.(y)




Cov(X,Y) = E[X - 1, )(Y ~ 1, )]

8.10 COV(X.Y)
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(y-uy)<0 (y-py)<0
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E(aX +bY) = aE(X) £ bE(Y)
O
V(aX +bY) = aV(X)+bV(Y)+2abCov (X,Y)
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